9x Table Search

1. Write out your 9x table below.

Ox9 =

1x9 =

4Lx9 =

9x9 =

12 x 9 =
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9x Table Search

2. Find the sets of 3 numbers from your 9x table number sentences. Colour them
in. They may be horizontal, vertical or diagonal. Write the ones you find
underneath. One is done for you as an example. How many can you find?

5 12 5 13 28 11 64 73 42 86
4 14 9 9 1 9 56 28 3 31
26 9 41 | 108 | 45 99 43 9 51 98
34 19 36 13 29 12 27 44 9 58
61 10 37 29 9 104 | 34 67 22 1
712 7 9 63 9 69 18 17 54 37
9 115 | 102 | 90 81 9 73 | 107 9 98
8 34 48 89 2 96 15 34 6 62
a __4x9=36 g.
b h.
c. }
d. j.
e. k.
f. L
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Decoration Dilemma

At a cake sale there are chocolate cakes and fairy cakes.
Chocolate cakes are decorated with 9 chocolate stars.
Fairy cakes are decorated with 9 sugar stars.

I can count 81 stars altogether.

How many of each cake are there?

You must have at least one of each kind of cake.

There are a few possible combinations.

How many can you find? %

>

QOB

Challenge
Someone brings over a tray of cupcakes to be sold.

The cupcakes are decorated with 9 gold stars.
There are still 81 stars in total.

How many of each cake are there?
You must have one of each.

There are a few possible combinations.

How many can you find?
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9x Table Search - Answers

1. Write out your 9x table below.

0x9=0

1x9=9

2x9=18

3x9=27

4 x 9 =36

5x9 =45

6 x 9 =54

7x9 =63

8 x9 =72

9 x 9 =81

10 x 9 = 90

1M x9=99

12 x 9 =108
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9x Table Search - Answers

1. Find the sets of 3 numbers from your 9x table number sentences. Colour them
in. They may be horizontal, vertical or diagonal. Write the ones you find
underneath. One is done for you as an example. How many can you find?

5 | R| S 13| 28 h | 64 | 73 | 42 | 86
4 14‘\9\ m | 9 | 56|28 | 3 | 3
26 | 9 | 41 \108 99 | 43 51 | 98
34 | 19 | 36 | 13 | 29 | 12 A 58
61 | M | 37 | 29 & | 104 | 34 | 67 | 22 \r
R | =7 —63-| ¢ | 69 | 38 | 17 54 | 37
$ | 115 | 102 q1 73 1107 | 9 | 98
$ | 34 | 48 | 89 9% | 15 | 34 | ¢ | 62
a. 4 x9 =36 g. 5x9 =45

b. 11 x 9 = 99 h.6 x9 =54

c. 2x9=18 i. 1x9=9

d. 3x9=27 j. 9x9=81

e. 7 x9=63 k. 12 x9 =108

f. 8x9=72 [. 10 x9 =90
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Decoration Dilemma - Answers

chocolate fairy 2
8 1 5 3
7 2 4 3
6 3 3 3
4 5 3
3 6 . A
2 7
3 4
1 8
2 4
. 4
chocolate fairy cupcake
3 5
7 1 1
5
6 2 1
5
5 3 1
6
4 4 1
6
3 5 1
y
2 6 1
1 7 1
6 1 2
5 2 2
4 3 2
3 4 2
2 5 2

Page 6 of 6

visit twinkl.com




